Orden de Operaciones (B)

Realice las operaciones en el orden correcto.

46,12 — (40,18 + (—64,01) — 76,13 + (—40, 59))

[

2. (24,49 — 4,36 —20,65) x (41,23 — 12,73)

W

55,8 x (60,44 —59,64) — (—82,85 — (—29,16))

4.93,61+26,19+44, 14+ 33,97 + (—37,04)

N

. 83,39 — (31,55 — (20,44 — (—86,92) — 83,33))
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Orden de Operaciones (B) Answers

Realice las operaciones en el orden correcto.

46,12 — (40,18 + (—64,01) — 76,13 + (—40, 59))
— 186,67

(—24,49 — 4,36 — 20,65) x (41,23 — 12,73)
= —1.410,75

x (60,44 —59,64) — (—82,85 — (—29,16))

5,8 %
8,33

. 93,61+26,19+44,14+ 33,97 + (—37,04)
— .160,87

. 83,39 — (31,55 — (20,44 — (—86,92) — 83,33))
=175,87
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